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SA: NS
I HYRSHAH(FAYSLEIH)
£l J|12HYI(FXIESY) (FXEEXIAY) (Cre: M 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SH23 3,000,000 * 128 36,000
&M= 1,500,0002 12 18,000
202 OiH| 14,880 9,600 5,280
01 2LH0IH 14,880 9,600 5,280
=S ESI TSRS 14,880
-UBHR B2 EX0Y|
10,0002 %4 H*20 L * 122 9,600
~SRX(RIHL) 22X BH0H
10,0002 2% x222 122 5,280
OIS RAY|(FXIESY) (FIELIIAY) 55,760 53,110 2,650
o2y 55,760 53,110 2,650
101 Q14| 50,960 48,910 2,050
03 2RZ(RIHA) 22 XE S 50,960 48,910 2,050
FOHI S L OAAEZE QF 50,960
A== 2,600,000 *1%*12 31,200
-da2=¢ 2,600,000 *50%+ 1 *23] 2,600
=) P = 60,0002 1H*122 720
-HEEIHY| 2,600,0002 608+ 1 x23] 3,120
—A2RI 224
24,0002 %1 Z*25A[ 2+ 122 7,200
-S4DHLY 360,00024* 12+ 128 4,320
-t Al 120, 00020% 12152 1,800
304 SI2RE2S 4,800 4,200 600
04 2R (PIHY) 22K LERRLYS S 4,800 4,200 600
-AHEE = 400, 0002 x 18 %122 4,800
L 3,000 1,462 1,538
OllEIEI (FRIE) (= ERIAY) 3,000 1,462 1,538
oflHIH] 3,000 1,462 1,538
801 0ilbIHl 3,000 1,462 1,538
G 3,000 1,462 1,538
IEIIEL 3,000




